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1. How are the graphs of v = |x = 4| and y = |x| ~ 4 the same? How are fhcy
different? 2. Graphs fransfate. o ~Ix - (] tranclates fo
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2. How are the graphs of v = |x + 3| and v = |x| + 3 the same? How are Thcy mY
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3. Identify the transformations of the graph of v = |x + 3 compared to y = |v|

and graph them both L " J \\ " ;
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4. Given the following absolute value equations, tell whether they have one
solution, no solution or two solutions. Explain.
a. [x+4]+4=8 b, |[x—=2|+3=1 c. Ix=2|=0
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5. Write an equation for each transformation of y = |x]. . \\\] O
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6. Solve each equation or inequality.

a. 5={w-8| b. 6|5 -m|=48
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7. Write and solve an absolute value equation or inequality for each
situation.

a. The ideal weight of a tree stand is 6.5 Ibs. Each stand can have an error
of at most 0.5 |b. What is the range of acceptable weights?
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;‘ b. A box of )

cracker

INspector meqg he oo have o moss of 13.7 02. The quality control \

any box thqt ur‘e;s Thi mass of every fiftieth box. The inspector rejects §

'S not within 0.3 0z of the ideal mass. Fi 1

acceptable magses mass. Find the range of b
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€. A school bus is traveling at a rate of 30 mph is 10 miles from Jasper's :!
ouse. At what Time(s) is the school bus 1 mile from Jasper's house? - 1
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a. Explain the steps to solve an absolute value inequality. Be sure to ]
explain the differences in an AND statement and an OR statement,
You may use an example to help explain.
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b. What is the difference between solving an absolute valy
inequality?
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